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Table 1 — Optical fiber cable transmission performance parameters

Minimum information
Optical fiber Wavelength Maximum attenuation transmission capacity
cable type (nm) (dB/km) for overfilled launch
(MHzekm)
50/125 um 850 3.5 500
multimode 1300 1.5 500
62.5/125 ym 850 3.5 160
multimode 1300 1.5 500
singlemode 1310 1.0 N/A
inside plant cable 1550 1.0 N/A
singlemode 1310 0.5 N/A
outside plant cable 1550 0.5 N/A
NOTE - The information transmission capacity of the fiber, as measured by the fiber
manufacturer, can be used by the cable manufacturer to demonstrate compliance with this
requirement.
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